We where asked to send criteria for the “168 hour test” or whatever takes it’s place to our NATF segment representative, here you go:

1. Stability.  There is 168 consecutive hours run (open loop or closed loop) running all functionality: DAM, RT, Settlements, Reporting, etc.  The criteria will be to run the test without: 

a.  Events that render unavailable these critical functions during the test period,  including errors such as system errors, application failures, loss of data, incorrect calculations, inability to transfer data, failure to access database, and inability to display information to the user. 
b. Events that render unavailable partial functionality of these systems during the test period with no workaround available. These include errors such as incorrect information displayed to the user, information not updating correctly, extracts failing, and missing export files. 
2. Convergence.  During one day of the test, ERCOT will run scripted inputs (Replace Market Participants’ Offers and Bids for Resources, Load and Virtuals).  ERCOT will report each day of the test: (A) the congestion rent for both DAM and RT; (B) Distribution of the SPP of HUBs and Zones and the basis between them; and (C) Distribution of the Generation Nodes associated with each HUB and the basis to the associated HUB.  The criteria will be: 
a. For the scripted day, the congestion rent should be no more than $______________ and the difference between the DAM and RT congestion rent should not be more than $ ______________. 

b. For all other days, the congestion rent should be within the limits set in (a), if not, the deviation should be consistent with the Bids and Offers submitted by Market Participants, not the system or network model defects. 
c. For all days, the price reports in 2. (B) and 2. (C) above should be consistent with the Bids and Offers used in the DAM and RT.  There should be no unreasonable pricing due to the system or network model defects. 
Thanks

Bill
